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Factorisation de déterminants

. cdet([m]) := block(

[mat:substpart(matrix,m,0)],

’determinant(mat)=factor(determinant(mat))

);

. cdet([1,1,1],[a,b,c],[a^2,b^2,c^2]);
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. cdet([1,x,x],[x,1,x],[x,x,1]);
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. cdet([a,b,c],[b,c,a],[c,a,b]);
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. cdet([(b-c)^2,b^2,c^2],[a^2,(c-a)^2,c^2],[a^2,b^2,(a-b)^2]);
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. cdet([x,2,3],[3,x,2],[2,3,x]);
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. cdet([1+x,1,1],[1,1+x,1],[1,1,1+x]);
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. cdet([0,c,-b],[-c,0,a],[b,-a,0]);
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. cdet([0,m,m^2],[1/m,0,m],[1/m^2,1/m,0]);
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. cdet([0,sin(phi),sin(2*phi)],[sin(phi),0,sin(2*phi)],[sin(2*phi),sin(phi),0]);
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. cdet([1,alpha,alpha^2],[beta,1,alpha],[beta^2,beta,1]);
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. cdet([-m,m-1,m],[2*m-1,m-1,-m],[-2,-4,2*m]);
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. cdet([1,1,1],[a,b,c],[a^3,b^3,c^3]);

13 :

�

�

�

�

�

�

�

1 1 1

a b c

a3 b3 c3

�

�

�

�

�

�

�

= (b− a) (c− a) (c− b) (c+ b+ a)

. cdet([a+b,a*b,a^2+b^2],[b+c,b*c,b^2+c^2],[c+a,c*a,c^2+a^2]);
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. cdet([2*b,b-c-a,2*b],[a-b-c,2*a,2*a],[2*c,2*c,c-a-b]);
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. cdet([a,a,a],[-a,a,x],[-a,-a,x]);
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. cdet([1,%i,1+%i],[-%i,1,0],[1-%i,0,1]);
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. cdet([a,b,c,d],[b,a,d,c],[c,d,a,b],[d,c,b,a]);
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